107!

1072

107

10

...I..
o

0.5

iy
TITTTT[TITT

—10—8—6—4 20 2 4 6 810

[ pull of goverp parameter |

107!

1072

107

10

iy

0.5

-10-8 6 -4 -2 0 2 4 6 8 10

= BT e

[ pull of @parameter |

107}

1072

1073

10

=

0.5

—.L086420246

[ pull of dxy parameter

107}

1072

iy

[
o
|
&F--
|
D

4 =270 2 4 6 8 10

[ pull of 6 parameter |

res N
td Dev 1
_1 onstant |
O o A 0%
10—2 R T I 1 R
= 1
| ! nes
1
1073 %nstcmt 78 8%

10

10ma 1

T 111 Il
1'_. AAAAAAAM\A 1“.04‘«444}...:;....'....
» - :
L N 1 b‘ c
F L eet d
0.5 ®

.L086420246810

[ pull of dz parameter

107}

1072

iy

||||||r||||_

S TR T
W :M‘A'

.L086420246810



	Contents
	Page 1


